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Four choicesaregiven for each of thefollowing questions/incomplete statements.
Choose the correct answer and shade the correct option in the OMR answer

sheet given to you with a black / blue ball point pen. [30 x 1 = 30]
81) %t;é%cdﬁaol TSI NOR.

A)  RRNROH B) R No®

C) WO Nk D) A Ro®

@33 : (B) eroaéme;@ nog

The tear secreting gland is

A) Sdivarygland B) Lachrymal gland
C) Pituitary gland D) Swesatgland
Ans: (B) Lachrymal gland
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82) [ARLRT, WD, [RALKT® DI BRI TRONTLE $THTH FetRF03
A) B B) sorieerm e
C) Bwwy D) Qe
WET : (A) Bpeees

The food nutrient that consists of Nitrogen, Carbon, hydrogen and oxygen

IS
A) Protein B) Carbohydrates
C) Fa D) Water

Ans: (A) Protein

83) BOOIRT LLITTRY, Bk, TR,

@56203306 RT3 . mdoﬁw 3383 mgpsé‘ S 3003
A) Toé RVRESI B) 230230
C) WD D) 0%
WE3 : (D) 08

Choose the correct answer.

Calcium deficiency : muscle cramps :: phosphorus deficiency :
A)  Night blind ness B) Beriberi

C) Anaemia D) Rickets

Ans: (D) Rickets
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84) IR 'X' Iy 'Y SO MTIATHHT FRNRE:

A)
B)
C)
D)

\r\
s

X- OB B Zror @) Y- SloWnIIRT

X- B BZH DB Y- SlowWnIXR]

X-00 BZeor B Y- mﬁ%@eéoﬁ TP
X- 00 B3 ) Y- mw;d%.raeéofn HPTPTOINGD

WIS : (B) X- 2B B3I 03 Y- Slowtnle X
In the figurethe partslabelled as'X' and 'Y' are

A)
B)
C)
D)

\r\
A |

X-Left Atriumand Y-Aorta
X-Left ventricleand Y-Aorta
X-Right Atrium and Y-pulmonary artery

X-Right ventricleand Y-pulmonary veins

Ans: (B) X-Left ventricleand Y-Aorta
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85) RS TOTOR To¥ TR Tore% WNRWT 55: cgemm TR DT BRF K=V

A) faaewaojaoas ﬁd,q B) é)wofirae %@@8
C) @éamom %Jaeﬁ D) gf&e@ojao £383Q

WET : (C) @%@G&om 3R,

The microbethat enter our body through portal entry of urogenital tract is
A) Influenzavirus B)  Vibriocholerae

C) Escherichiacoli D) Clostridium tetani

Ans: (C) Escherichiacoli

86) BweeNoHY JoeTT Fodhneh WRCRMHII @omwm @qs OIV FTW TS
A) 3063 daﬁmm~ B) 56@6 8om dwen m~
C) Az, dzémmfo D) wa dzém m»
WVET : (B) 303 %037@ dwen mfo
The study of how physuology isaltéred in patient is called
A)  Anatomy B) Pathophysiology
C) Microscopic anatomy D) Macroscopic anatomy
Ans: (B) Pathophysiology

87) SRR Frseck I Fe[NVR FTRTICTT TRTES Ross;
A) 101 B) 100
C) 1008 D) 108
@20 : (D) 108
The phone number to be dialled for any medical emergency servicesis

A) 101 B) 100
C) 1008 D) 108
Ans: (D) 108

88) oSRRTe [T WFTD BRGET d:c@w TR BeINTR, TN OFT VYN
DETREBROOT msmams T3od
A) TREW3T B) 303033
C) QXNesTeD D) @3 50e Qe ol
PVZ3 : (A) BRITOBI
The process by which an article surface or medium freed of all living micro
organisms either in the vegetative or spore state
A)  Sterilization B) Antisepsis
C) Disnfection D) Decontamination
Ans: (A) Sterilization
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89) dween w3y BReNT egsem?ﬁ TOWORATOP TOSN ER3AIPNTLS z%.@c@oisﬁ:a
T3,
A)  TOTD — BIRT W) LTTNT
B) 0300 — w008 g3ed
C) iéméiéwx@ — TRTTYTH ARZ WRTINYY LVOONRE
D) TR0W0FodN — Z9RERESNYY GVOLRMIT $eBITT YO0DRT
%33 : (C) iéméiéwx@ — TRTTYTI ARZ WRTINYY LVOONRE
| dentify the correct pair with respect to disease and their symptoms
A) Cholera- chills, fever and sweating
B) Malaria- vomitting and diarrhea
C) Sinusitis- inflammationinthenasal area
D) Tetanus- chronicinflammation of thelungs
Ans: (C) Sinusitis- inflammationinthe nasal area

90) mamssg WSBOIMT 03T mz;ssa
A)  RARCET N B) eoernsd
C) fmeﬁw 30308T XRPIND D) @%cm%& LS TRAT) .
I3 : (D) D3TEF LETRROYID.
The physical agent used in sterilization is
A) Haogens B) Phenols
C) Surfaceactive agents D) Exposed to radiation
Ans: (D) Exposed to radiation

91) B¥=FT mam5§%& WETOMT TOTRONAT
A)  0.1%BeERA0CN0 THRTF ON3eEs
B) 3%zoeg &

C) 0.2-1%TTeg waEdes®

D) 5% Reelodo 3R

23 : (A) 0.1%TREERRAON0 TeSTOF ONSCET
The Chemical used for disinfecting skin is

A)  0.1% potassium permanganate

B) 3% peroxide

C) 0.2-1% peroxy acetate

D) 5% sodium chloride

Ans: (A) 0.1% potassium permanganate
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es&aeﬁswos daﬁaaﬁs ReRT RNSY Goz'e’oudos ms 23D

A) STFEIT a’,em B) eirae'@%fo SOODE®
C) mé%emé%eﬁ D) af)@ofno

WET : (B) aﬁdeiraemsa—s SOODE®

The microbes found in the nose of healthy human body is

A) Aspegillus B)  Staphylococcus aureus
C) Lactobacillus D) Clostridium

Ans: (B) Staphylococcus aureus

FZ0HY TOWITITL 0By TRCENNY SRR RAT ERORATINTHTIT.
A) NIRRT B) sw—owsm

C) mdﬂé'@ddo D) Nmojasda

T : (C) AYISTOTL

Thefirst link for patients and visitorsin hospital is

A) Nurses B) Manager

C) Receptionist D) Attendent

Ans: (C) Receptionist

2,000 BWeRORY WFTe MOLTY BeenFesER) TPEed TRW BT, TOBIONRY,
DURBRDT T3k
W Q
A) oS B) evaToes
C) IR D) RARco® 3neIwm)0
WET : (D) ZPEOBD SR
Theinvasion and multiplication of pathogenic microbesin an individual or
population is called
A) Disease B) Respiration
C)  Nutrition D) Infection
Ans: (D) Infection

Q. BT, & /WS D 3&@"’

A) TRERIT 30%sE ©OTO B) FoRFRIT ANSTT ©HT0
C) OJFRAT ROJTE IOA D) &3N FOJTE ©9QTOO
QBT : (A) AOVJERIT I Noeu?? ©HTO

Expanded form of PRO is

A) Public Relations Officer B)  Public Reception Officer

C) PublicRelationsOrganisation D) Private Relations Officer
Ans: (A) Public Relations Officer
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96) @HBHY EReTY TTETRM WP @03
A)  9DTOZFIRN DO AL TR
B) 803N BSTT RAeRT)T
C) BYVYRT IRRVS
D) &XOnemy, éﬁcﬁa%@@%@m
WET : (C) IYDRT IBIVS
The external factor that causes anger in hospital is
A) Negativesdftak
B)  Over eating of food
C) Being short - staffed
D) Takingdrugs
Ans: (C) Being short - staffed

97) HWRTTE wEINCH W0, TORE
A) TeDT TRV TTVRITT
B) R000E 20w $0ecomm), FRRTT
C) WNT & emta—ofbf\oéd
D) Sotioios T3P0 50T ST
YVET : (A) TEBT BRBRCOT awaézécﬁ
The main function of inner ear human i |s
A) maintainsthe body balance
B)  secretescerumen wax
C) preparationvitaminD
D) maitainsthe potassium balance
Ans: (A) maintains the body balance

98) RPFIT FRT wITON 55*”03:@ SR, TONT TOCIRT ToNne
A) mzm%ﬂ em&maoﬁ admé%@w — PTZRCST0Y
B) mga@es — mg&awm%ﬁ am&waoﬁ — mgm%ﬁ
C) mgaﬁ@oﬁ — mgm@; — mg&@es — mg&rawmeé
D) SNRSBRTTON — RSFRTTIY —> SDRSTT — WRZ[RCT
NET : (C) DRILWIFTON — FRTTOY — TRZERCT — TRTERCTTOY
The correct way of flow of urinein the urinary system of human is
A) ureter — kidney — bladder — urethra
B) bladder — urethra— kidney — ureter
C) kidney — ureter — bladder — urethra
D) kidney — urethra— ureter — bladder
Ans: (C) kidney — ureter — bladder — urethra
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99) %goﬁ:a %sgﬁ BOWORAT TRENNOT WHLOITRN. VRN w3 AT SHZD
N[~
A) BT $IZ B) ®Zes3 ©38
C) Jeagod 838 D) meere I
I3 : (C) IR0 BIZ

A person is suffering from eye related disease. The type of hospital that
givestreatment to him is

A)  Teaching hospital B) Isolation hospital
C) Specialised hospital D) Rura hospita
Ans: (C) Specialised hospital

100) 20090w 300 SR mds@gcﬁ sTI0H P
A)  BeR BIZ B) =ooR® 83
C) IINTOD 6:35@6715 3o D) R3S &0 TP Y
WET : (D) BRFS DI TFTS BIE,
The type of hospital where the bed capacity is 200 to 300 is
A) Distric hospital B) Taukahospital
C) Community health centre D) Teaching and Referral hospital
Ans: (D) Teaching and Referral hospital

101) Brencsn 35 BRENNOT WELITRN QLT FOTTIR $BZ0HYTLeFMIT
A)  BFIRER B) SREeedod
C) éédmoaacs@ D) v3edodm
QIT @ (A) BFTRN
A client suffering from this disease has to stay in the hospital for a long

time.
A) Leprosy B) Pneumonia
C) Typhoid D) Mdaia

Ans: (A) Leprosy
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102) wHZon BRsy £ WM 3Ty ¥ WOTPRIE QTRAONTRY, T X0
"’o&racm@ofo
A) wmseoa‘bmx TO3PEMOOOD
B) 0% owo@ém TO3PEMOOOD
C) m%e@oﬁamx ijiIDGTTOQ)OSD
D) 33%36 23@56—00335% TO3REMOOOD
QST : (C) 239,3¢000TF oiraemeoﬁa

In a hospital, the Iaboratory that conductstestsrelated to micro organisms
and the toxins produced by them is

A) Parasitology laboratory

B) Haematology laboratory

C) Bacteriology laboratory

D) Clinical biochemistry laboratory

Ans: (C) Bacteriology |aboratory

103) dnenowy STZR DT F03T &BjE CARLERODRY, TRAXLTWTT NOF BZHH
A) =3 RO B) = dcéa nowd
C) T Noed D) ebo@,so noed
WET : (D) Q0 NOES
The maximum hours in which a care plan should be formulated after the
patient's admission to hospital is
A)  Six hours B) Twelvehours
C) Two hours D) Eight hours
Ans: (D) Eight hours

104) =% es&racﬁ el séosw 22RLOTE T3y BSeARLIFE TTX WIRE X 09323
gabmﬂ
A)  90mmHg23140 mm Hg B) 140mmHg:d2 90 mmHg
C) 180 mmHg:=v22110 mmHg D) 110mmHgs3>33180 mm Hg
@20 : (B) 140 mmHg= 90 mm Hg
The systolic and diastolic blood pressure number in a adult healthy person
repectively are
A) 90 mm Hgand 140 mm Hg B) 140 mm Hgand 90 mm Hg
C) 180 mmHgand 110 mm Hg D) 110 mm Hgand 180 mm Hg
Ans: (B) 140 mm Hg and 90 mm Hg
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105) =53 BesNod 80T Been Y FoNAdY ¥TeFT T WY
A) 10 DTN B) 50&:Med
C) 30J0&|ND D) 60:0RN
o33 : (C) 30NN
After the meal, keep the patient in a sitting position for at least
A) 10minutes B) S5minutes
C) 30minutes D) 60minutes
Ans: (C) 30 minutes

106) 530300 =R :-’scgpéﬁ TOWORATO3 TOCINT LR TRBN
A)  BTRT WERTD, OT WENT g HedRLew
B) 5% et TeORTON SN0 m0DB/IY, WNFLIVTTD
C) InRQE zsmé xmwgﬁé BNWO3 E"MM@%@%&SG&
D) Cweenod TBe®T FoN0d Wi} AMPTLRLIDTT
I3 : (B) Bw detr TRORTON SRENCD DB/, WNFLTVTTD
In hospital the correct general instruction related with bed making is
A) Mixthecleanlinenwithdirty linen
B) Do not cover theclientsfacewith linen
C) Letthelinentouch your uniform
D) Do not give attention to the body position of the client
Ans: (B) Do not cover the clientsface with linen

107) =83 cdnemRod B30 Iy 0k Ty T3
A)  SPOROTI B) o3neks 00R 3R
C) xmﬂé SSICEMVDIENVevY D) :@egg’maa
WET : (B) Cdpem 2ON ST
The fourth step of planning and implementation of care plan is

A)  Assessment B) Implementation of plan
C) Problemidentification D) Evduation
Ans: (B) Implementation of plan
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108) <R oNSnen eszﬁxacﬁé es:%%oﬁ: refolecet swzézmama QT 233

A) TNRTRET ToOREN

B) dwen TF TWFW 500DNFNRWD

C) TEOTT ToORNFN

D) NJT° [BECD ToORENL

QO3 : (A) THEITRBAIE FTVORFNEY

A treatment for all diseases with the help of health care team membersis

A) curativefunctions

B) diagnostic functions

C) preventivefunctions

D) rehabilitativefunction

Ans: (A) curativefunctions

109) MTRFTN STURENTOT TRTTT BeTT LOIRPOS

A) 956°F B) 101.6°F
C) 986°F D) 1046°F
@20 : (C) 98.6°F

The Normal temperature of healthy human body is
A) 95.6°F B) 101.6°F
C) 986°F D) 104.6°F
Ans: (C) 98.6° F

110) deenR HOY emz)més% DI W.2. (BRTTIFR) MG&')QCS% [OC3T oM
A) BRI Fon B) =T gon
C) QTIMHOR BoONELON D) SPOT’I 0N
WET : (D) FPOT'T EoN
The correct position of the patient, which helps to respire easily and to

watch T.V. is
A) Prone position B)  Supineposition
C) Leftlatera position D) Fowler's position

Ans: (D) Fowler's position
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